

**SOME LIMITS OF DEFINITE INTEGRALS OF LALESCU'S
TYPE**

D.M. BĂTINEȚU - GIURGIU, MIHÁLY BENCZE, DANIEL SITARU, NECULAI STANCIU

ABSTRACT. In this paper we present some limits of definite integrals.

Theorem 1.

If $x_n = \sum_{k=1}^n \frac{1}{k}$, and $f : \mathbb{R}_+^* \rightarrow \mathbb{R}_+^*$ is a continue function, then:

$$\lim_{n \rightarrow \infty} \int_{e^{x_n}}^{e^{x_{n+1}}} f\left(\frac{x}{n}\right) dx = e^\gamma f(\gamma)$$

Proof.

We have: $e^{x_{n+1}} - e^{x_n} = e^{x_n} \left(e^{\frac{1}{n+1}} - 1 \right) = e^{x_n - \ln n} \cdot n \left(e^{\frac{1}{n+1}} - 1 \right) =$

$$(1) \quad = e^{\gamma_n} \cdot \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}} \cdot \frac{n}{n+1}, \text{ so, } \lim_{n \rightarrow \infty} (e^{x_{n+1}} - e^{x_n}) = e^\gamma \cdot 1 \cdot 1 = e^\gamma$$

where we have used the facts that $\gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ and $\lim_{n \rightarrow \infty} \gamma_n = \gamma$

By the mean value theorem for definite integrals we have that

there exist $\zeta_n \in [e^{x_n}, e^{x_{n+1}}]$ such that:

$$(2) \quad \int_{e^{x_n}}^{e^{x_{n+1}}} f\left(\frac{x}{n}\right) dx = (e^{x_{n+1}} - e^{x_n}) f\left(\frac{\zeta_n}{n}\right)$$

Since $e^{x_n} \leq \zeta_n \leq e^{x_{n+1}} \Leftrightarrow \frac{e^{x_n}}{n} \leq \frac{\zeta_n}{n} \leq \frac{e^{x_{n+1}}}{n+1} \cdot \frac{n+1}{n}$, yields

$$(3) \quad \lim_{n \rightarrow \infty} \frac{\zeta_n}{n} = \lim_{n \rightarrow \infty} \frac{e^{x_n}}{n} = \lim_{n \rightarrow \infty} e^{x_n - \ln n} = \lim_{n \rightarrow \infty} e^{\gamma_n} = e^\gamma$$

Then by (1), (2) and (3), we obtain:

$$\lim_{n \rightarrow \infty} \int_{e^{x_n}}^{e^{x_{n+1}}} f\left(\frac{x}{n}\right) dx = e^\gamma f\left(\lim_{n \rightarrow \infty} \frac{\zeta_n}{n}\right) = e^\gamma f(e^\gamma).$$

□

1991 *Mathematics Subject Classification.* 97D50,97I30.

Key words and phrases. integrals, limits.

Theorem 2.

If $a \in (0, 1) \cup (1, \infty)$, $(E_n)_{n \geq 0}$, $E_n = \sum_{k=0}^n \frac{1}{k!}$, $(x_n)_{n \geq 1} > 0$, such that $\lim_{n \rightarrow \infty} \frac{x_n}{n!} = b > 0$

and $f : (0, \infty) \rightarrow (0, \infty)$ is a continue function, then:

$$\lim_{n \rightarrow \infty} x_{n+1} \int_{a^{E_n}}^{a^{E_{n+1}}} f(x) dx = ba^e f(a^e).$$

Proof. By the mean value theorem for definite integrals we have that there exists

$$\zeta_n \in [e^{E_n}, e^{E_{n+1}}], \forall n \in \mathbb{N}^* \text{ such that:}$$

$$\begin{aligned} \int_{a^{E_n}}^{a^{E_{n+1}}} f(x) dx &= (a^{E_{n+1}} - a^{E_n}) f(\zeta_n) = a^{E_n} (a^{E_{n+1}-E_n} - 1) f(\zeta_n) = \\ &= a^{E_n} \left(a^{\frac{1}{(n+1)!}} - 1 \right) f(\zeta_n). \text{ So,} \end{aligned}$$

$$(1) \quad x_{n+1} \int_{a^{E_n}}^{a^{E_{n+1}}} f(x) dx = \frac{x_{n+1}}{(n+1)!} \cdot a^{E_n} \cdot \frac{a^{\frac{1}{(n+1)!}} - 1}{\frac{1}{(n+1)!}} \cdot f(\zeta_n)$$

Since, $a^{E_n} \leq \zeta_n \leq a^{E_{n+1}}$ and $\lim_{n \rightarrow \infty} E_n = e$ yields

$$(2) \quad \lim_{n \rightarrow \infty} a^{E_n} \leq \lim_{n \rightarrow \infty} \zeta_n \leq \lim_{n \rightarrow \infty} a^{E_{n+1}} \Leftrightarrow a^e \leq \lim_{n \rightarrow \infty} \zeta_n \leq a^e \Rightarrow \lim_{n \rightarrow \infty} \zeta_n = a^e$$

By (1) and (2) and hypothesis we obtain:

$$\lim_{n \rightarrow \infty} x_{n+1} \int_{a^{E_n}}^{a^{E_{n+1}}} f(x) dx = b \cdot a^e \cdot 1 \cdot f\left(\lim_{n \rightarrow \infty} a^e\right) = ba^e f(a^e).$$

□

Theorem 3.

Let $(s_n)_{n \geq 1}$, $s_n = \sum_{k=1}^n \frac{1}{k^2}$ and $f : (0, \infty) \rightarrow (0, \infty)$ a continue function, then:

$$\lim_{n \rightarrow \infty} \sqrt[n]{n!} \int_{s_n}^{\frac{\pi^2}{6}} f(x) dx = \frac{f\left(\frac{\pi^2}{6}\right)}{e}.$$

Proof.

$$\text{It is well-known that } \lim_{n \rightarrow \infty} s_n = \frac{\pi^2}{6}.$$

By the mean value theorem for definite integrals we have that there exists:

$$(1) \quad \zeta_n \in \left(s_n, \frac{\pi^2}{6}\right) \text{ such that } \int_{s_n}^{\frac{\pi^2}{6}} f(x) dx = \left(\frac{\pi^2}{6} - s_n\right) f(\zeta_n), \forall n \in \mathbb{N}^*$$

$$\text{So, } \sqrt[n]{n!} \int_{s_n}^{\frac{\pi^2}{6}} f(x) dx = \frac{\sqrt[n]{n!}}{n} \cdot f(\zeta_n) \cdot n \left(\frac{\pi^2}{6} - s_n\right) = \frac{\sqrt[n]{n!}}{n} \cdot f(\zeta_n) \cdot \frac{\frac{\pi^2}{6} - s_n}{\frac{1}{n}}.$$

Since, $\lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e}$, we deduce that:

$$\lim_{n \rightarrow \infty} \sqrt[n]{n!} \int_{s_n}^{\frac{\pi^2}{6}} f(x) dx = \frac{1}{e} \cdot f\left(\lim_{n \rightarrow \infty} \zeta_n\right) \cdot \lim_{n \rightarrow \infty} \frac{\frac{\pi^2}{6} - s_n}{\frac{1}{n}} \stackrel{\text{Stolz}}{=} \frac{\frac{\pi^2}{6}}{\left(\frac{0}{0}\right)}$$

$$\begin{aligned}
&= \frac{1}{e} f\left(\frac{\pi^2}{6}\right) \lim_{n \rightarrow \infty} \frac{-s_{n+1} + s_n}{\frac{1}{n+1} - \frac{1}{n}} = \frac{f\left(\frac{\pi^2}{6}\right)}{e} \lim_{n \rightarrow \infty} \frac{s_{n+1} - s_n}{\frac{1}{n(n+1)}} = \\
&= \frac{f\left(\frac{\pi^2}{6}\right)}{e} \lim_{n \rightarrow \infty} \frac{\frac{1}{(n+1)^2}}{\frac{1}{n(n+1)}} = \frac{f\left(\frac{\pi^2}{6}\right)}{e} \lim_{n \rightarrow \infty} \frac{n}{n+1} = \frac{f\left(\frac{\pi^2}{6}\right)}{e}.
\end{aligned}$$

□

Theorem 4.

Let $f : (0, \infty) \rightarrow (0, \infty)$ be a continuous function, then:

$$\lim_{n \rightarrow \infty} \int_{\sqrt[n]{n!}}^{n+1\sqrt{(n+1)!}} f\left(\frac{x}{n}\right) dx = \frac{1}{e} f\left(\frac{1}{e}\right)$$

Proof. There are well-known the following two facts:

(1)

$$\lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e}, \text{ respectively } \lim_{n \rightarrow \infty} (n+1\sqrt{(n+1)!} - \sqrt[n]{n!}) = \frac{1}{e} \text{ (Traian Lalescu's limit)}$$

By the mean value theorem for definite integrals we have that there exist $\zeta_n \in (\sqrt[n]{n!}, n+1\sqrt{(n+1)!})$ such that:

$$(2) \quad \int_{\sqrt[n]{n!}}^{n+1\sqrt{(n+1)!}} f\left(\frac{x}{n}\right) dx = (n+1\sqrt{(n+1)!} - \sqrt[n]{n!}) \cdot f\left(\frac{\zeta_n}{n}\right)$$

Since $\sqrt[n]{n!} \leq \zeta_n \leq n+1\sqrt{(n+1)!} \Leftrightarrow \frac{\sqrt[n]{n!}}{n} \leq \frac{\zeta_n}{n} \leq \frac{n+1\sqrt{(n+1)!}}{n+1} \cdot \frac{n+1}{n}$, where taking to limit with $n \rightarrow \infty$, by (1) we have:

$$(3) \quad \frac{1}{e} \leq \lim_{n \rightarrow \infty} \frac{\zeta_n}{n} \leq \frac{1}{e} \Rightarrow \lim_{n \rightarrow \infty} \frac{\zeta_n}{n} = \frac{1}{e}$$

By (1); (2); (3) we obtain that:

$$\begin{aligned}
\lim_{n \rightarrow \infty} \int_{\sqrt[n]{n!}}^{n+1\sqrt{(n+1)!}} f\left(\frac{x}{n}\right) dx &= \lim_{n \rightarrow \infty} (n+1\sqrt{(n+1)!} - \sqrt[n]{n!}) \cdot \lim_{n \rightarrow \infty} f\left(\frac{\zeta_n}{n}\right) = \\
&= \frac{1}{e} \cdot f\left(\lim_{n \rightarrow \infty} \frac{\zeta_n}{n}\right) = \frac{1}{e} f\left(\frac{1}{e}\right)
\end{aligned}$$

□

Theorem 5.

Let $(\zeta_n)_{n \geq 1}, \gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ with $\lim_{n \rightarrow \infty} \gamma_n = \gamma$ and $f : (0, \infty) \rightarrow (0, \infty)$ be a

continue function, then $\lim_{n \rightarrow \infty} \sqrt[n]{n!} \int_{\gamma}^{\gamma_n} f(x) dx = \frac{f(\gamma)}{2e}$.

Proof.

$$(1) \quad \text{It is well-known that } \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e}$$

By the mean value theorem for definite integrals we have that there exist $\zeta_n \in (\gamma, \gamma_n)$ such that:

$$\int_{\gamma}^{\gamma_n} f(x) dx = (\gamma_n - \gamma) f(\zeta_n), \forall n \in \mathbb{N}^*, \text{ so}$$

$$(2) \quad \sqrt[n]{n!} \int_{\gamma}^{\gamma_n} f(x) dx = \sqrt[n]{n!} (\gamma_n - \gamma) f(\zeta_n) = \frac{\sqrt[n]{n!}}{n} \cdot n(\gamma_n - \gamma) f(\zeta_n)$$

Then by (1) and (2):

$$\begin{aligned} \lim_{n \rightarrow \infty} \sqrt[n]{n!} \int_{\gamma}^{\gamma_n} f(x) dx &= \frac{1}{e} f\left(\lim_{n \rightarrow \infty} \zeta_n\right) \lim_{n \rightarrow \infty} n(\gamma_n - \gamma) = \\ &= \frac{1}{e} f(\gamma) \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \stackrel{\text{Cesaro-Stolz}}{\left(\frac{0}{0}\right)} \frac{f(\gamma)}{e} \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = \\ &= \frac{f(\gamma)}{e} \lim_{n \rightarrow \infty} \frac{-\gamma_{n+1} + \gamma_n}{\frac{1}{n(n+1)}} = \frac{f(\gamma)}{e} \lim_{n \rightarrow \infty} \frac{\ln \frac{n+1}{n} - \frac{1}{n+1}}{\frac{1}{n^2}} \stackrel{\left(\frac{1}{n}=x\right)}{=} \\ &= \frac{f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) - \frac{x}{1+x}}{x^2} = \frac{f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1)\ln(1+x) - x}{x^2(1+x)} = \\ &= \frac{f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1)\ln(1+x) - x}{x^2} = \frac{f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) + 1 - 1}{2x} = \\ &= \frac{f(\gamma)}{2e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \ln(1+x)^{\frac{1}{x}} = \frac{f(\gamma)}{2e} \ln e = \frac{f(\gamma)}{2e}. \end{aligned}$$

□

Theorem 6.

Let $(\zeta_n)_{n \geq 1}, \gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ with $\lim_{n \rightarrow \infty} \gamma_n = \gamma$ and $f : (0, \infty) \rightarrow (0, \infty)$ be a continue function, then:

$$\lim_{n \rightarrow \infty} \sqrt[n]{(2n-1)!!} \int_{\gamma}^{\gamma_n} f(x) dx = \frac{f(\gamma)}{e}.$$

Proof. We have that:

$$(1) \quad \lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!!}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!}{n^n}} = \lim_{n \rightarrow \infty} \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} = \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left(\frac{n}{n+1}\right)^n = \frac{2}{e}$$

By the mean value theorem for definite integrals we have that there exist $\zeta_n \in (\gamma, \gamma_n)$ such that:

$$\zeta_n^{\gamma_n} f(x) dx = (\gamma_n - \gamma) f(\zeta_n), \forall n \in \mathbb{N}^*, \text{ so}$$

$$(2) \quad \sqrt[n]{(2n-1)!!} \int_{\gamma}^{\gamma_n} f(x) dx = \sqrt[n]{(2n-1)!!} (\gamma_n - \gamma) f(\zeta_n) = \frac{\sqrt[n]{(2n-1)!!}}{n} \cdot n(\gamma_n - \gamma) f(\zeta_n)$$

Then by (1) and (2):

$$\begin{aligned} \lim_{n \rightarrow \infty} \sqrt[n]{(2n-1)!!} \int_{\gamma}^{\gamma_n} f(x) dx &= \frac{2}{e} f\left(\lim_{n \rightarrow \infty} \zeta_n\right) \lim_{n \rightarrow \infty} n(\gamma_n - \gamma) = \\ &= \frac{2}{e} f(\gamma) \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \stackrel{\text{Cesaro-Stolz}}{\left(\frac{0}{0}\right)} \frac{2f(\gamma)}{e} \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = \frac{2f(\gamma)}{e} \lim_{n \rightarrow \infty} \frac{-\gamma_{n+1} + \gamma_n}{\frac{1}{n(n+1)}} = \\ &= \frac{2f(\gamma)}{e} \lim_{n \rightarrow \infty} \frac{\ln \frac{n+1}{n} - \frac{1}{n+1}}{\frac{1}{n^2}} \stackrel{\left(\frac{1}{n}=x\right)}{=} \frac{2f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) - \frac{x}{1+x}}{x^2} = \end{aligned}$$

$$\begin{aligned}
&= \frac{2f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1)\ln(1+x) - x}{x^2(1+x)} = \frac{2f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1)\ln(1+x) - x}{x^2} = \\
&= \frac{2f(\gamma)}{e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) + 1 - 1}{2x} = \frac{2f(\gamma)}{2e} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \ln(1+x)^{\frac{1}{x}} = \frac{f(\gamma)}{e} \ln e = \frac{f(\gamma)}{e}.
\end{aligned}$$

□

Theorem 7.

Let $(\gamma_n)_{n \geq 1}$, $\gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ with $\lim_{n \rightarrow \infty} \gamma_n = \gamma$ and $f : (0, \infty) \rightarrow (0, \infty)$ be a

continue function, then: $\lim_{n \rightarrow \infty} \sqrt[n]{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \sqrt[4]{(2n-1)!!}} \int_{\gamma}^{\gamma_n} f(x) dx = \frac{f(\gamma)}{e^2}$.

Proof. We have that:

$$\begin{aligned}
&\lim_{n \rightarrow \infty} \frac{\sqrt[n]{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \dots \cdot \sqrt[4]{(2n-1)!!}}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \dots \cdot \sqrt[4]{(2n-1)!!}}{n^n}} = \\
&= \lim_{n \rightarrow \infty} \frac{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \dots \cdot \sqrt[4]{(2n-1)!!} \cdot \sqrt[n+1]{(2n+1)!!}}{(n+1)^{n+1}} \cdot \frac{n^n}{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \dots \cdot \sqrt[4]{(2n-1)!!}} = \\
&= \lim_{n \rightarrow \infty} \frac{\sqrt[n+1]{(2n+1)!!}}{n+1} \left(\frac{n}{n+1}\right)^n = \frac{1}{e} \sqrt[n]{\frac{(2n-1)!!}{n^n}} = \frac{1}{e} \lim_{n \rightarrow \infty} \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} = \\
(1) \quad &= \frac{1}{e} \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left(\frac{n}{n+1}\right)^n = \frac{2}{e^2}
\end{aligned}$$

By the mean value theorem for definite integrals we have that there exist $\zeta_n \in (\gamma, \gamma_n)$ such that:

$$\int_{\gamma}^{\gamma_n} f(x) dx = (\gamma_n - \gamma) f(\zeta_n), \forall n \in \mathbb{N}^*, \text{ so}$$

(2)

$$\sqrt[n]{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \sqrt[4]{(2n-1)!!}} \int_{\gamma}^{\gamma_n} f(x) dx = \frac{\sqrt[n]{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \dots \cdot \sqrt[4]{(2n-1)!!}}}{n} \cdot n(\gamma_n - \gamma) f(\zeta_n)$$

Then by (1) and (2):

$$\begin{aligned}
&\lim_{n \rightarrow \infty} \sqrt[n]{\sqrt{3!!} \cdot \sqrt[3]{5!!} \cdot \sqrt[4]{(2n-1)!!}} \int_{\gamma}^{\gamma_n} f(x) dx = \\
&= \frac{2}{e^2} f(\gamma) \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \underset{\left(\frac{0}{0}\right)}{\text{Cesaro-Stolz}} \frac{2f(\gamma)}{e^2} \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = \frac{2f(\gamma)}{e^2} \lim_{n \rightarrow \infty} \frac{-\gamma_{n+1} + \gamma_n}{\frac{1}{n(n+1)}} = \\
&= \frac{2f(\gamma)}{e^2} \lim_{n \rightarrow \infty} \frac{\ln \frac{n+1}{n} - \frac{1}{n+1}}{\frac{1}{n^2}} \underset{\left(\frac{1}{n} = x\right)}{\text{}} \frac{2f(\gamma)}{e^2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) - \frac{x}{1+x}}{x^2} = \\
&= \frac{2f(\gamma)}{e^2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1)\ln(1+x) - x}{x^2(1+x)} = \frac{2f(\gamma)}{e^2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1)\ln(1+x) - x}{x^2} = \\
&= \frac{2f(\gamma)}{e^2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) + 1 - 1}{2x} = \frac{2f(\gamma)}{2e^2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \ln(1+x)^{\frac{1}{x}} = \frac{f(\gamma)}{e^2} \ln e = \frac{f(\gamma)}{e^2}.
\end{aligned}$$

□

Theorem 8.

Let Γ be the gamma function, then $\lim_{n \rightarrow \infty} n^2 \int_{\frac{1}{n+1\sqrt{(n+1)!}}^{\frac{1}{\sqrt{n!}}}} \Gamma(nx) dx = e\Gamma(e)$.

Proof.

$$\text{We have: } \lim_{n \rightarrow \infty} \frac{n}{\sqrt[n]{n!}} = e.$$

We denote $x_n = \sqrt[n+1]{(n+1)!} - \sqrt[n]{n!}$, and we have $\lim_{n \rightarrow \infty} x_n = \frac{1}{e}$, where by the mean value theorem for definite integrals we have that there exist $\zeta_n \in \left[\frac{1}{n+1\sqrt{(n+1)!}}, \frac{1}{\sqrt{n!}} \right]$ such that:

$$\int_{\frac{1}{n+1\sqrt{(n+1)!}}^{\frac{1}{\sqrt{n!}}}} \Gamma(nx) dx = \left(\frac{1}{\sqrt[n]{n!}} - \frac{1}{n+1\sqrt{(n+1)!}} \right) \Gamma(n\zeta_n) = \frac{x_n}{\sqrt[n]{n!} \cdot n+1\sqrt{(n+1)!}} \Gamma(n\zeta_n)$$

So,

$$\begin{aligned} \lim_{n \rightarrow \infty} n^2 \int_{\frac{1}{n+1\sqrt{(n+1)!}}^{\frac{1}{\sqrt{n!}}}} \Gamma(nx) dx &= \lim_{n \rightarrow \infty} x_n \cdot \lim_{x \rightarrow \infty} \left(\frac{n}{\sqrt[n]{n!}} \cdot \frac{n+1}{n+1\sqrt{(n+1)!}} \cdot \frac{n}{n+1} \right) \cdot \lim_{n \rightarrow \infty} \Gamma(n\zeta_n) = \\ &= \frac{1}{e} \cdot e \cdot e \cdot 1 \cdot \Gamma\left(\lim_{n \rightarrow \infty} n\zeta_n\right) \end{aligned}$$

Since $\frac{1}{n+1\sqrt{(n+1)!}} \leq \zeta_n \leq \frac{1}{\sqrt{n!}} \Rightarrow \frac{n+1}{n+1\sqrt{(n+1)!}} \cdot \frac{n}{n+1} \leq n\zeta_n \leq \frac{n}{\sqrt{n!}}$, we obtain that

$$\lim_{n \rightarrow \infty} n\zeta_n = e. \text{ Hence } \lim_{n \rightarrow \infty} n^2 \int_{\frac{1}{n+1\sqrt{(n+1)!}}^{\frac{1}{\sqrt{n!}}}} \Gamma(nx) dx = e\Gamma(e).$$

□

Theorem 9.

Let Γ be the gamma function, then:

$$\lim_{n \rightarrow \infty} n^2 \int_{\frac{1}{n+1\sqrt{(2n+1)!}}^{\frac{1}{\sqrt{(2n-1)!}}} \Gamma(n^2x^2) dx = \frac{e}{2} \Gamma\left(\frac{e^2}{4}\right)$$

Proof. We have that:

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!}}{n} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!}{n^n}} = \lim_{n \rightarrow \infty} \frac{(2n+1)!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!} = \\ &= \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left(\frac{n}{n+1} \right)^n = \frac{2}{e}. \end{aligned}$$

We denote $x_n = \sqrt[n+1]{(2n+1)!} - \sqrt[n]{(2n-1)!}$. We have that:

$$\begin{aligned} \lim_{n \rightarrow \infty} \left(\sqrt[n+1]{(2n+1)!} - \sqrt[n]{(2n-1)!} \right) &= \lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!}}{n} \cdot \lim_{n \rightarrow \infty} n(u_n - 1) = \frac{2}{e} \lim_{n \rightarrow \infty} n(u_n - 1) = \\ &= \frac{2}{e} \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \text{ where } u_n = \frac{\sqrt[n+1]{(2n+1)!}}{\sqrt[n]{(2n-1)!}}, \forall n \geq 2. \end{aligned}$$

$$\lim_{n \rightarrow \infty} u_n = \lim_{n \rightarrow \infty} \left(\frac{\sqrt[n+1]{(2n+1)!}}{n+1} \cdot \frac{n}{\sqrt[n]{(2n-1)!}} \cdot \frac{n+1}{n} \right) = \frac{2}{e} \cdot \frac{e}{2} \cdot 1 = 1, \text{ so } \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1.$$

$$\lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \frac{(2n+1)!!}{(2n-1)!!} \cdot \frac{1}{\sqrt[n+1]{(2n+1)!!}} = \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \cdot \frac{n+1}{\sqrt[n+1]{(2n+1)!!}} = 2 \cdot \frac{e}{2} = e$$

$$\text{and then } \lim_{n \rightarrow \infty} x_n = \lim_{n \rightarrow \infty} (\sqrt[n+1]{(2n+1)!!} - \sqrt[n]{(2n-1)!!}) = \frac{2}{e}.$$

By the mean value theorem for definite integrals we have that there exist $\zeta_n \in \left[\frac{1}{\sqrt[n+1]{(2n+1)!!}}, \frac{1}{\sqrt[n]{(2n-1)!!}} \right]$ such that:

$$\begin{aligned} n^2 \int_{\frac{1}{\sqrt[n+1]{(2n+1)!!}}}^{\frac{1}{\sqrt[n]{(2n-1)!!}}} \Gamma(n^2 x^2) dx &= n^2 \left(\frac{1}{\sqrt[n]{(2n-1)!!}} - \frac{1}{\sqrt[n+1]{(2n+1)!!}} \right) \Gamma(n^2 \zeta_n^2) = \\ &= x_n \cdot \frac{n}{\sqrt[n]{(2n-1)!!}} \cdot \frac{n+1}{\sqrt[n+1]{(2n+1)!!}} \cdot \frac{n}{n+1} \cdot \Gamma(n^2 \zeta_n^2) \end{aligned}$$

$$\text{So, } \lim_{n \rightarrow \infty} n^2 \int_{\frac{1}{\sqrt[n+1]{(2n+1)!!}}}^{\frac{1}{\sqrt[n]{(2n-1)!!}}} \Gamma(n^2 x^2) dx = \frac{2}{e} \cdot \frac{e}{2} \cdot \frac{e}{2} \cdot 1 \cdot \Gamma \left(\lim_{n \rightarrow \infty} (n \zeta_n)^2 \right) = \frac{e}{2} \Gamma \left(\lim_{n \rightarrow \infty} (n \zeta_n^2) \right)$$

$$\text{Since, } \frac{1}{\sqrt[n+1]{(2n+1)!!}} \leq \zeta_n \leq \frac{1}{\sqrt[n]{(2n-1)!!}} \Rightarrow \frac{n+1}{\sqrt[n+1]{(2n+1)!!}} \cdot \frac{n}{n+1} \leq n \zeta_n \leq \frac{n}{\sqrt[n]{(2n-1)!!}}$$

$$\text{we obtain that: } \lim_{n \rightarrow \infty} n \zeta_n = \frac{e}{2}. \text{ Hence } \lim_{n \rightarrow \infty} n^2 \int_{\frac{1}{\sqrt[n+1]{(2n+1)!!}}}^{\frac{1}{\sqrt[n]{(2n-1)!!}}} \Gamma(n^2 x^2) dx = \frac{e}{2} \Gamma \left(\frac{e^2}{4} \right)$$

□

Theorem 10.

Let $f : \mathbb{R}_+^* \rightarrow \mathbb{R}_+^*$ be a continue function and $\gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ with

$\lim_{n \rightarrow \infty} \gamma_n = \gamma = \text{Euler - Mascheroni's constant. Then:}$

$$\lim_{n \rightarrow \infty} n \int_{\gamma}^{\gamma_n} \frac{f(x-\gamma)}{f(\gamma_n-x) + f(x-\gamma)} dx = \frac{1}{4}$$

Proof.

$$(1) \quad \text{Let } a, b \in \mathbb{R}_+^*, a < b, \text{ then } I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx = \frac{b-a}{2}$$

Indeed, we make $t = u(x) = a+b-x, u'(x) = -1, u(a) = b, u(b) = a$ and we obtain:

$$I = \int_a^b \frac{f(a+b-t-a)}{f(b-a-b+t) + f(a+b-t-a)} (-1) dt = \int_a^b \frac{f(b-t)}{f(t-a) + f(b-t)} dt$$

$$\text{Therefore, } 2I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx + \int_a^b \frac{f(b-x)}{f(x-a) + f(b-x)} dx = \int_a^b dx = b-a, \text{ i.e. (1)}$$

$$\text{Hence, } I_n = \int_{\gamma}^{\gamma_n} \frac{f(x-\gamma)}{f(\gamma_n-x) + f(x-\gamma)} dx = \frac{\gamma_n - \gamma}{2} \text{ and then:}$$

$$\begin{aligned} \lim_{n \rightarrow \infty} n I_n &= \frac{1}{2} \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \stackrel{\text{Cesaro-Stolz}}{\underset{(0)}{=}} \frac{1}{2} \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = \frac{1}{2} \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma_{n+1}}{\frac{1}{n(n+1)}} = \\ &= \frac{1}{2} \lim_{n \rightarrow \infty} \frac{-\frac{1}{n+1} + \ln \frac{n+1}{n}}{\frac{1}{n(n+1)}} = \frac{1}{2} \lim_{n \rightarrow \infty} \frac{-1 + (n+1) \ln(1 + \frac{1}{n})}{\frac{1}{n}} \quad (x = \frac{1}{n}) \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{-x + (1+x) \ln(1+x)}{x^2} \stackrel{\text{L'H}}{=} \frac{1}{2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{-1 + \ln(1+x) + (1+x) \cdot \frac{1}{1+x}}{2x} = \\
&= \frac{1}{4} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \ln(1+x)^{\frac{1}{x}} = \frac{1}{4} \ln e = \frac{1}{4}
\end{aligned}$$

□

Theorem 11.

Let $f : \mathbb{R}_+^* \rightarrow \mathbb{R}_+^*$ be a continue function and $(x_n)_{n \geq 1}, x_n = \sum_{k=1}^n \frac{1}{k}$. Then:

$$\lim_{n \rightarrow \infty} \int_{e^{x_n}}^{e^{x_{n+1}}} \frac{f(x - e^{x_n})}{f(e^{x_{n+1}} - x) + f(x - e^{x_n})} dx = \frac{1}{2} e^\gamma$$

Proof.

$$(1) \quad \text{Let } a, b \in \mathbb{R}_+^*, a < b \text{ then } I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx = \frac{b-a}{2}$$

Indeed, we make $t = u(x) = a+b-x, u'(x) = -1, u(a) = b, u(b) = a$ and we obtain:

$$I = \int_a^b \frac{f(a+b-t-a)}{f(b-a-b+t) + f(a+b-t-a)} (-1) dt = \int_a^b \frac{f(b-t)}{f(t-a) + f(b-t)} dt.$$

Therefore, $2I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx + \int_a^b \frac{f(b-x)}{f(x-a) + f(b-x)} dx = \int_a^b dx = b-a$, i.e. (1)

$$\begin{aligned}
&\text{Hence, } \int_{e^{x_n}}^{e^{x_{n+1}}} \frac{f(x - e^{x_n})}{f(e^{x_{n+1}} - x) + f(x - e^{x_n})} dx = \frac{e^{x_{n+1}} - e^{x_n}}{2} = \\
&= \frac{1}{2} \cdot e^{x_n} \cdot (e^{x_{n+1}-x_n} - 1) = \frac{1}{2} \cdot e^{x_n} \cdot (x_{n+1} - x_n) \cdot \frac{e^{x_{n+1}-x_n} - 1}{x_{n+1} - x_n} = \\
&= \frac{1}{2} \cdot e^{x_n} \cdot \frac{1}{n+1} \cdot \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}} = \frac{1}{2} \cdot \frac{e^{x_n}}{n} \cdot \frac{n}{n+1} \cdot \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}} = \frac{1}{2} \cdot e^{-\ln n + x_n} \cdot \frac{n}{n+1} \cdot \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}} = \\
&= \frac{1}{2} \cdot e^{\gamma_n} \cdot \frac{n}{n+1} \cdot \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}}, \text{ so}
\end{aligned}$$

$$\lim_{n \rightarrow \infty} I_n = \frac{1}{2} \cdot e^\gamma \cdot 1 \cdot 1 = \frac{1}{2} e^\gamma$$

where $\gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ and $\lim_{n \rightarrow \infty} \gamma_n = \gamma = \text{Euler-Mascheroni's constant}$.

□

Theorem 12.

Let $f : \mathbb{R}_+^* \rightarrow \mathbb{R}_+^*$ be a continue function and $(a_n)_{n \geq 1}, a_1 = a_2 = 1$,

$$a_{n+1} = \sum_{k=1}^n \frac{a_k}{k}, \forall n \geq 2, (x_n)_{n \geq 1}, x_n = \sum_{k=1}^n \frac{1}{a_k}. \text{ Then:}$$

$$\lim_{n \rightarrow \infty} \frac{1}{n} \int_{e^{x_n}}^{e^{x_{n+1}}} \frac{f(x - e^{x_n})}{f(e^{x_{n+1}} - x) + f(x - e^{x_n})} dx = e^{2\gamma-1}$$

Proof.

$$(1) \quad \text{Let } a, b \in \mathbb{R}_+^*, a < b \text{ then } I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx = \frac{b-a}{2}$$

Indeed, we make $t = u(x) = a + b - x$, $u'(x) = -1$, $u(a) = b$, $u(b) = a$ and we obtain

$$I = \int_a^b \frac{f(a+b-t-a)}{f(b-a-b+t) + f(a+b-t-a)} (-1) dt = \int_a^b \frac{f(b-t)}{f(t-a) + f(b-t)} dt$$

$$\text{Therefore, } 2I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx + \int_a^b \frac{f(b-x)}{f(x-a) + f(b-x)} dx = \int_a^b dx = b-a, \text{ i.e. (1)}$$

$$\text{Hence, } I_n = \int_{e^{x_n}}^{e^{x_{n+1}}} \frac{f(x - e^{x_n})}{f(x^{x_{n+1}} - x) + f(x - e^{x_n})} dx = \frac{e^{x_{n+1}} - e^{x_n}}{2} =$$

$$(2) \quad = \frac{1}{2} \cdot e^{x_n} \cdot (e^{x_{n+1} - x_n} - 1) = \frac{1}{2} \cdot e^{x_n} \cdot \left(e^{\frac{1}{a_{n+1}}} - 1 \right) = \frac{1}{2} \cdot \frac{e^{x_n}}{a_{n+1}} \cdot \frac{e^{\frac{1}{a_{n+1}}} - 1}{\frac{1}{a_{n+1}}}$$

By mathematical induction we have $a_n = \frac{n}{2}$, $\forall n \geq 2$ which yields $x_n = 2 \cdot \sum_{k=1}^n \frac{1}{k} - 1$, then by (2)

$$\frac{1}{n} I_n = \frac{1}{2} \cdot \frac{e^{x_n}}{n^2} \cdot \left(e^{\frac{1}{a_n}} - 1 \right) \cdot n = \frac{1}{2} \cdot \frac{e^{x_n}}{n^2} \cdot \left(e^{\frac{2}{n+1}} - 1 \right) \cdot n = \frac{1}{2} \cdot e^{x_n - 2 \ln n} \cdot \left(e^{\frac{1}{n+1}} + 1 \right) \cdot \left(e^{\frac{1}{n+1}} - 1 \right) \cdot n =$$

$$(3) \quad = \frac{1}{2} \cdot \left(e^{\frac{1}{n+1}} + 1 \right) \cdot e^{2 \sum_{k=1}^n \frac{1}{k} - 2 \ln n - 1} \cdot \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}} \cdot \frac{n}{n+1} = \frac{1}{2} \cdot \left(e^{\frac{1}{n+1}} + 1 \right) \cdot e^{2\gamma_n - 1} \cdot \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}} \cdot \frac{n}{n+1}$$

Since, $\gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ with $\lim_{n \rightarrow \infty} \gamma_n = \gamma = \text{Euler-Mascheroni's constat}$ and

$$\lim_{n \rightarrow \infty} \frac{e^{\frac{1}{n+1}} - 1}{\frac{1}{n+1}} = 1, \text{ we obtain } \lim_{n \rightarrow \infty} \frac{1}{n} I_n = \frac{1}{2} \cdot (1+1) \cdot e^{2\gamma-1} \cdot 1 \cdot 1 = e^{2\gamma-1}.$$

□

Theorem 13.

Let $a \in [0, 1]$, $(a_n)_{n \geq 1}$, $a_n = \sum_{k=1}^n \frac{1}{k^a}$ and $f : \mathbb{R}_+^* \rightarrow \mathbb{R}_+^*$ be a continue function, then:

$$\lim_{n \rightarrow \infty} \int_{n \sqrt[n]{a_n}}^{(n+1) \sqrt[n+1]{a_{n+1}}} \frac{f(x - n \sqrt[n]{a_n})}{f((n+1) \sqrt[n+1]{a_{n+1}} - x) + f(x - n \sqrt[n]{a_n})} dx = \frac{1}{2}$$

Proof.

$$(1) \quad \text{Let } a, b \in \mathbb{R}_+^*, a < b, \text{ then } I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx = \frac{b-a}{2}$$

Indeed, we make $t = u(x) = a + b - x$, $u'(x) = -1$, $u(a) = b$, $u(b) = a$ and we obtain:

$$I = \int_a^b \frac{f(a+b-t-a)}{f(b-a-b+t) + f(a+b-t-a)} (-1) dt = \int_a^b \frac{f(b-t)}{f(t-a) + f(b-t)} dt.$$

$$\text{Therefore, } 2I = \int_a^b \frac{f(x-a)}{f(b-x) + f(x-a)} dx + \int_a^b \frac{f(b-x)}{f(x-a) + f(b-x)} dx = \int_a^b dx = b-a, \text{ i.e. (1)}$$

$$\begin{aligned}
\text{Then, } I_n &= \lim_{n \rightarrow \infty} \int_{n \sqrt[n]{a_n}}^{(n+1) \sqrt[n+1]{a_{n+1}}} \frac{f(x - n \sqrt[n]{a_n})}{f((n+1) \sqrt[n+1]{a_{n+1}} - x) + f(x - n \sqrt[n]{a_n})} dx = \\
&= \frac{1}{2} ((n+1) \sqrt[n+1]{a_{n+1}} - n \sqrt[n]{a_n}) = \frac{1}{2} \cdot n \sqrt[n]{a_n} \cdot (v_n - 1) = \frac{1}{2} \cdot n \sqrt[n]{a_n} \cdot \frac{v_n - 1}{\ln v_n} \cdot \ln v_n = \\
(2) \qquad &= \frac{1}{2} \cdot \sqrt[n]{a_n} \cdot \frac{v_n - 1}{\ln v_n} \cdot \ln v_n^n
\end{aligned}$$

$$\text{Where } v_n = \frac{(n+1) \sqrt[n+1]{a_{n+1}}}{n \sqrt[n]{a_n}}$$

Since, $1 < \sqrt[n]{a_n} \leq \sqrt[n+1]{a_{n+1}}$, yields $\lim_{n \rightarrow \infty} \sqrt[n]{a_n} = 1$, so $\lim_{n \rightarrow \infty} v_n = 1$ and consequently

$$\begin{aligned}
\lim_{n \rightarrow \infty} \frac{v_n - 1}{\ln v_n} &= 1. \text{ Also, we have } \lim_{n \rightarrow \infty} v_n^n = \lim_{n \rightarrow \infty} \left(\frac{n+1}{n} \right)^n \frac{a_{n+1}}{a_n} \cdot \frac{1}{\sqrt[n+1]{a_{n+1}}} = \\
&= e \cdot \frac{1}{1} \cdot \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} \stackrel{\text{Cesaro-Stolz}}{=} e \cdot \lim_{n \rightarrow \infty} \frac{a_{n+2} - a_{n+1}}{a_{n+1} - a_n} = e \lim_{n \rightarrow \infty} \frac{\frac{1}{(n+2)^2}}{\frac{1}{(n+1)^2}} = \\
&= e \lim_{n \rightarrow \infty} \left(\frac{n+1}{n+2} \right)^2 = e \cdot 1 = e. \text{ Hence by (2) we obtain } \lim_{n \rightarrow \infty} I_n = \frac{1}{2} \cdot 1 \cdot 1 \cdot \ln e = \frac{1}{2}. \quad \square
\end{aligned}$$

Theorem 14.

Let $(x_n)_{n \geq 1}, x_n = \sum_{k=1}^n \frac{1}{k}, \gamma_n = x_n - \ln n$. It is well-known that $\lim_{n \rightarrow \infty} \gamma_n = \gamma$,

i.e. Euler-Mascheroni constant. Then, $\lim_{n \rightarrow \infty} (e^{x_n} - ne^\gamma) = \frac{e^\gamma}{2}$

Proof.

An Euler-Mascheroni-Cesàro-Stolz-L'Hôpital collaboration.

We denote $a_n = e^{x_n} - ne^\gamma = n \cdot \frac{e^{x_n}}{n} - ne^\gamma = ne^{x_n - \ln n} - ne^\gamma =$

$= n(e^{\gamma_n} - e^\gamma) = e^\gamma n(e^{\gamma_n - \gamma} - 1) = e^\gamma n \cdot \frac{e^{\gamma_n - \gamma} - 1}{\gamma_n - \gamma} (\gamma_n - \gamma), \forall n \in \mathbb{N}^*$. Therefore

$$\begin{aligned}
\lim_{n \rightarrow \infty} a_n &= e^\gamma \cdot \lim_{n \rightarrow \infty} \frac{e^{\gamma_n - \gamma} - 1}{\gamma_n - \gamma} \cdot \lim_{n \rightarrow \infty} n(\gamma_n - \gamma) = e^\gamma \cdot 1 \cdot \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \stackrel{\text{Cesaro-Stolz}}{=} \left(\frac{0}{0} \right) \\
&= e^\gamma \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = e^\gamma \lim_{n \rightarrow \infty} \frac{\ln(1 + \frac{1}{n}) - \frac{1}{n+1}}{\frac{1}{n(n+1)}} = e^\gamma \lim_{n \rightarrow \infty} \frac{(n+1) \ln(1 + \frac{1}{n}) - 1}{\frac{1}{n}} = \\
&= e^\gamma \lim_{n \rightarrow \infty} \frac{(1 + \frac{1}{n}) \ln(1 + \frac{1}{n}) - \frac{1}{n}}{\frac{1}{n^2}} \stackrel{x = \frac{1}{n}}{=} e^\gamma \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(1+x) \ln(1+x) - x}{x^2} \stackrel{\text{L'Hospital}}{=} \\
&= e^\gamma \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) + 1 - 1}{2x} = \frac{e^\gamma}{2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \ln(1+x)^{\frac{1}{x}} = \frac{e^\gamma}{2} \ln e = \frac{e^\gamma}{2}. \quad \square
\end{aligned}$$

REFERENCES

- [1] D.M. Bătinețu-Giurgiu, *Sequences*. Albatros Publishing House, Bucharest, 1979.
- [2] D.M. Bătinețu-Giurgiu, *Lalescu sequences*. R.M.T., Vol. 20, No. 1-2, 1989, pp. 33-36.
- [3] D.M. Bătinețu-Giurgiu, N. Stanciu, *Several results of some classes of sequences*. The Pentagon, Vol. 73, No. 2, Spring 2014, pp. 10-24.
- [4] D.M. Bătinețu-Giurgiu, N. Stanciu, A. Kotronis, *Calculating the limits of some real sequences*. Mathproblems Mathematical journal, Vol. 4, Issue 1, 2014, pp. 252-257.
- [5] Daniel Sitaru, Mihály Bencze, *699 Olympic Mathematical Challenges*. Studis Publishing House, Iași, 2017.
- [6] Mihály Bencze, Daniel Sitaru, *Quantum Mathematical Power*. Studis Publishing House, Iași, 2018.
- [7] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Energy*. Studis Publishing House, Iași, 2018.
- [8] Romanian Mathematical Magazine - Interactive Journal, www.ssmrmh.ro

MATHEMATICS DEPARTMENT, "THEODOR COSTESCU" NATIONAL ECONOMIC COLLEGE, DROBETA
TURNU - SEVERIN, ROMANIA.

Email address: dansitaru63@yahoo.com